[0
o ©
< =
5 g 5| €]
— > > ol o
ko) ’© - e g 8 2
8 g = % IE 2l m ° © g E 8 g
| < |2l8l |212|5|5|=| 8|5 |&lE| 2|
Z |o|lo slE|ls|=|w]| 3|2 Ile|l o ©
c|T|® ol elaelc| oSl ]2
Els1ellle|g|®lao|la|l|=S|®|9] El?
2|5l El2l28| 885|832 &|8| = o
ol |83l Z|B|E|G|lE|2|2|ElB|8| < €
c|lGlElE|lC|DlE|lm|S|B|a] s8] 2= < ©
Slolala|2|al5|2|&8[s|e|le|el Ele| = k7 2]
DPIo|o|lc|o|lc|2|E|B|C|o|lo|lel | ® ) O [21]
Ol=|w|S|=|w|E|lT|l<|F]|O|=]|E|F]la = X 14 o
E|E|E|E|C|C|C|C|E|E|E|E|C|C]|C
713131514313 [2|4]|5|5|7]|2]|3]|4
1] 10453 3| 7| 6| O| 8| 7| 6| 8| 4| 5| O 8] 6] 6] O 35|AM, SIM, Mecl1 / RM1, Termoth2, RM2, OM1, VM 0
2| 10074 4| 7| 8| 7| 8| 8| 6| 8| 4| 7| 7| 8] 6] 7{10 49(Mec2-5 / RM1, RM2 0
3| 10454 | 3| 8| 7| 5| 8| 6] 6 9| 7| 8| 6| 9] 8 6|10 53|Mec2-5, Ed fiz1 / RM1 0
4110093 | 5] 8| 7| 7] 7| 9| 8|10 5| 8|10(10|10| 9{10] 8,017| 60|SIM /RM1, Mecanisme 0
5[ 9720 | O 7| 7| 6| 7| 8| 0[(10| 4| 8| O| O] 5| 9|10 34|SIM, Mec1, Practica dom1, Mec2 / Termoth2, RM2, OM1, VM 0
6( 10107| O| 8| 5| O] 6| 6] O] 8| O| 8] Of O] O] 0Of10 24| - / RM1, Mecanisme, RM2, OM1, VM 0
7| 10167 | 3| 6| 8| 6| 7| 7| 6| 9| 4|10 7| 8] 7| 6|10 49(Mec2-5 / RM1, Mecanisme, Termoth2-5, RM2 0
8| 10168 | 3| 8| 4|1 O 7| 7| 6] 8| 4| 8] 0] 9] 6| 6/ O 32|SIM, Mec1-5, Mec2-5, DTI2, Termoth1, TM / RM1, OM1, Tribologie, VM 0
9] 10173| O 6| 5| 6| 9| 8| 7| 9| 4| 8| 6| 9] 8 6| O 45(AM, SIM, Mec1, Mec2, Ed fiz1 / RM1, Mecanisme, Termoth2, RM2, VM 0
10[ 10191 | 5| 8| 8| O 9| 8| 6| 8| 4| 6| 6| 9] 7| 6|10 51|Ed fiz1 / RM1, RM2 0
11| 10462 | 3| 7| 6| 7| 8| 6] 6| 8| 4] 5| 0| 9] 6 6] O 40(SIM / RM1, RM2, OM1, VM 0
12| 10253 O] O] O] O] 5] O] O O] O] 6| Of 8] 5| 6|/ O 21(SIM, Mec2, DTI2, Termoth1, Ed fiz1 / RM1, Termoth2, RM2, OM1, PAC 0
13| 10271 | 3| 6| 6| 6 7| 8] 7|(10| 5| 8| 6|10] 7| 7|10 53|SIM, Mec1-5, Mec2-5, Termoth1 / RM1,Mecanisme, RM2, VM 0
14| 9875 AM, Practica dom1, Mec2 / RM1, RM2, OM1, Ed fiz3 taxa
15[ 10209| Of 7| 4| Of 7| 8| 6| 8| 4| 8| 6| 8] 7| 8|10 41|(AM, Mec1-5, Mec2-5 / RM1, Mecanisme, Termoth2, RM2, PAC 0
16[ 10302 3| 6| 7| 7| 8| 7| 7| 9| 5| 8| 6| 8] 7| 6|10 53|SIM, Mec1-5, Mec2-5 / RM2, OM1 0
17110305 6 7| 7| 9| 8| 9| 7| 9| 7| 9(10|10]|10( 10{10 8,5| 60]-/RM1, Mecanisme 0
18] 10310| O O] O Of O| Of O] Of O] Ol O] O] Of O O 0([SIM, Mec1, Mec2 / RM1, Mecanisme, Termoth2, RM2 0
19] 10334 | O 6| 6] 7| 9| 8] 6| 9| 6] 7| O| 8] 9| 0|10 45(SIM, Mec2, Termoth1 / Mecanisme, Termoth2, OM1 0
20| 10358 | 4| 7| 4| 5| 8| 8| 6|10| 4| 8| 5| 8] 6| 6] O 42|SIM, Mec1-5, Mec2, Termothl / RM1, Mecanisme, Termoth2, VM 0
21| 10363| 3| 7| 6] 5] 9] 9| 6| 8| 6| 8] 6/10| 8| 6{10 53|AM, SIM, Mec1, Mec2, Termothl / RM1, RM2 0
22110374 3| 8| 6| 7| 7| 7| 7| 8| 4| 8] 5| 9] 6| 6] O 45]|SIM, Termothl / RM1, Termoth2, RM2 0
23| 10385( 3| 7| 4| O| 8] 8| 7| 9] 4| 6| 6] 9| 8 6] O 37|AM, Termoth1 / RM1, Termoth2, TCD, RM2, OM1 0
24| 10386 | O 7| 4| O 7| 7| 5| 8| 4| 8| 0| 9| 8| 6|10 36|SIM, Mec1-5, PCLP, Mec2-5, Termothl / RM1, Termoth2, TCD 0
25| 10390 3| 7| 6| 5| 8] 7| 8|10] 7| 6] 6] 9| 7| 5|10 53|Termoth1 / RM1, Termoth2, TCD, RM2, OM1 0
26| 10479 3| 7| 4|1 O 7| 7| 6] 8| 5| 7| 6| 8] 7| 6] O 41|SIM, Mec1, Mec2-5 / RM1, Mecanisme, RM2, VM 0
27| 10420| O] O] O] O] O] O] O| O| 4| 6| O] 9| 9 910 21|AM, SIM, DTI1, DTI2 / RM1, RM2, OM1, PAC, VM 0
28| 10422 O 7] 7| O 9| 7| 6| 8] 5| 7| O] 8| 7| 6|10 43(SIM / RM1, OM1, VM 0
29| 10438 | O| O] Of O] O] Of O] O] Of O] O] Of O] O] O 0|SIM, Termoth1 / RM2, OM1, PAC, VM IS
30| 10481 3| 8| 7| 5] 9| 6| 7| 9] 7| 9| 8] 9| 9| 6|10 53|SIM, Mec2-5, Ed fiz1 / RM1, Ed fiz2 0
31| 10452 O 7| 6| 7] 9| O 7| 8| 4| 6|/ O] 8 6|/ O] O 34|AM, Mec1, TM / RM1, Mecanisme, Termoth2, RM2 0




